THAEE Wb FIRYE (PM2.5) B BIERER
REGF:BE=TRH(BARK)

SR HARS HERE AF R (g /m®)

(ug/m®) - = 7= ) T y 2% 2+

Cl NO, SO, Na NH, K Mg’ Ca

5= RXE 21| 002 o056 456 020 19/ o0.13[ 0020 o006
R4/5/12 | B/ME 3.1| 0008 0.10 0.3| 00167 0.09| 0038| 0.0029| 0.010
~5/25 F i 12| 0014| 023 2.7 008 10| 0076] 0010 0.023
2= BX{E 152 007| o0.156 4| 0214 14| 0234 002| o0.040
R4/7/21 R/ME 4.1| 00056 0.044| 049 0.062| <0.009| 0.084| 0.0049 0.008
~8/3 F i 8| 0017] 008 18] 0.142 05| 0125 0.011| 0020
Y ES RXfE 12( 0.0383| 0.414 28| 012 09 o014/ o001] o003
R4/10/20 | B/MiE 2.3 0.0096] 0082 044] 0033 0.10| 0.034[<0.0022| <0.004
~11/2 F i 6.1 0019 0.19 10| 0064] 035 0079 000 0010
2F PN 1| 017 2.2 24| 0.8 1.3[  0.08] 00181 o0.111
R5/1/19 | B/ME 12| 0036] o012 026] 0051 012] 002[<0.0023| 0005
~2/2 F gl 60| 0.09 0.7 13| 009 063 0044] 001] 0022
SAEHAR TR (ng/m°)

Na Al Si K Ca Sc Ti \% Cr Mn Fe Co Ni Cu Zn
5= BX{E 199 82| 137 87| <0.04| 861 1.14 25( 126 1890 0.9 1.9 54 389 2
R4/5/12 | B/ME 9 33 5/ 160 <004| 266 <006| 022 089 137 <001 o0.12] 052 24| 011
~5/25 F i 80| 512 73| 440| <004 533 0.5 1.1 50| 852 00| 0.770 23| 162 1
23 BX{E 215 82 56|  138[ <0.018 43| 0838 1.7 6.3 889] 0038 1.17 31| 209 1
R4/7/21 R/IME 47 <18 167 5| <0.018 06| 0057 0.8 0.4 8.1| <0016 0.17| 0597 15| 007
~8/3 F i 131 15 33 28| <0.018 18 0.3 07| 215 394 0| 0594 15 9.6 0
VS BX{E 15| 408 915 21.4] <0.022] 3.72 1 17] 612 887 0034] 122 36| 186 2
R4/10/20 | B/MiE 254| <1.3| 450| <0.7| <0.022] 0.45| <0.029| <0.04| 036 36| <0019 <0.03| 0283 <2.7| 0041
~11/2 F i 57.7 10| 422 3.8| <0.022| 1.6543 02| o060 231 345 00| 0421 1.37 5.4 0.3
2F BX{E 90.8 99 66| 67.6| <0019 8.12 0.5 10| 462 750 of 711 393 134 1
R5/1/19 | B/ME 16.7]  <1.6 35| <09| <0.019| <0.15| <0.03| <0.026| <0.13 0.9| <0.013| <0.02 02| 074 009
~2/2 F gl 39 26 33 8.8| <0.019| 2.1771 0.2 03| 189 320 0| 0636 1.3 5.0 0
SAEHAR TR (ng/m°)

As Se Rb Mo Sb Cs Ba La Ce Sm Hf W Ta Th Pb
5= RXfE 15 05 126 199 01| 377 0222 o027] <001| 0443 0.0018 77| 883 00[ 193
R4/5/12 | B/ME 020 o002] 006 o0.18] <0005 0.59| <0.005| 0.008| <0.01[<0.0024|<0.0017| 0.05| 1.69[<0.0027| 8.10
~5/25 F i 075 o026| 048 069 003 1.722 01| o010 <001| 0113[ 0000 1.85| 5.1093 00| 127.8
23 RXE 1.1 02| 066 0.9 00| 2.66 03| 0.69| <0.006] 0.005( <0.003 46| 449 0005 666
R4/7/21 R/ME 0.09| <0.017| 0031 0.06| <0.005| 0.460| 0006 0.01| <0.006| <0.004| <0.003| <0.014| 0.13| <0.003 8.6
~8/3 F i 0.37| 006| 0293 032 00| 1.382 0.1 0.161| <0.006] 0.000| <0.003| 0.99| 1.6514 00| 277
S BX{E 0.7 02| 069 102 00| 219 0.1] 0.15| <0.005| <0.017| <0.004 53 427 03[ 154
R4/10/20 | B/MiE 0.050( <0.021| <0.027| 0.07| <0.004| 0.243] 0.03| 0.032| <0.005| <0.017| <0.004| <0.03| 0.34| 005 110
~11/2 F i 031 008] 029 036 000 1012 0.1 0.07| <0.005| <0.017| <0.004| 1.13| 1.5164 01| 399
2F RXfE 0.7 02| 075 073 0.1] 2010 02| o036 001] 0.008[<0.0014 02| 517 00[ 594
R5/1/19 | B/ME 0.03| <0.013| 0012| 0.086| <0.004| <0.1| <0.011| 0.018| <0.006| <0.008|<0.0014| <0.05| 057| <0.008 <6
~2/2 F gl 021 o010] o021 032] 002 0988 0.1 0.13] 0.00| 0.0006[<0.0014] 0.05| 2.5164 00| 1377
SREHAR RERD (Leg/m)

oct | oc2 | oc3 | oca [ocpyro] ECT | EC2 | EC3 [ ©OC EC
5= BX{E 0.14 2.1 20| 1.16 15 06| 006 1.09 6.1 1.2
R4/5/12 | B/ME o o061 057 0249 0.0808| 0.19 0 o] 159 0.266
~5/25 EHE 0.03 1.1 106| 058 077 036] 003[ 0546 34 0.6
23 BX{E 0.11 25 15[ 076 0.9 05 01| 076 5.4 0.7
R4/7/21 R/ME ol 117 055 018 0043 007 000 0043 20[ 007
~8/3 F i 0.012 20| 098] 045 039 026 001 0345 38 03
VS BX{E 0.085 15 157 o082 098 05 005 0.666 46 0.9
R4/10/20 | &/IME | <0.006| 0.366] 036 0.135| 0.055| 0.0839| 0.000| 0.0068[ 0.89 0.138
~11/2 F i o o072 o082 o041 o039 027 002 0238 22| 044
2F BXIE 0.127| 059 062 042 072 05| 007 0415 2.1 0.9
R5/1/19 | &/ME | <0023| 0.12| 0.13] 0.043| 0.0024| 0.0461| 0.0000| 0.0024| 0.30| 0.0461
~2/2 F il 0046 033] 035 021 o031 027 003 0227 12| 039




